Pseudo code for Error Correction
N=[A, ‘AN, 'C,A, ‘G
// N is the candidate list of bases for a position
i=0;
// selected from the first one
while (i < Length_of _N) {
// choose the first candidate
N_base = N[i];
//Get the number of the N_base
N_count = count (N, N_base);
//Calculate the Frequency of the N_base in N
Frequency = N_count / total number of all candidates contained in N list;
//if the Frequency is greater than SCF, then the N_base will be selected and break the
loop
If (Frequency*100 >= SCF) {
selected_base _i=i;
break;
}
//We note the most frequently appearing base in N; in the case in which no base
reaches the SCF value, the most frequent base will be used.
If (N_count > max_count ){
max_count = N_count;
selected_base_i=1;
}
i =i+1; //next candidate
}
selected_base = N[selected_base_i];
ecLR.append(selected_base*HC_count)
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Supplementary Figure 1. Flowchart of Error Correction Step in LSC
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Supplementary Figure 2. Flowchart of Error Correction Step in LSCplus



